
EXAMPLE 4.18 For the network of Fig. 4.53 : 
a. Determine ICQ and UCEQ. 
b. Find UB, UC, UE, and UBC. 

 

RB 680kΩ:=  RC 4.7kΩ:=  UCC 20V:=  β 120:=  UBE 0.7V:=  

IB
UCC UBE−

RB β RC⋅+
explicit ALL, 

20 V⋅ 0.7 V⋅−

680 kΩ⋅ 120 4.7 kΩ⋅⋅+
→ 15.51µA=:=  

IB 15.51 µA:=  

ICQ β IB⋅ explicit ALL, 120 15.51 µA⋅⋅→ 1.861mA=:=  

ICQ 1.861 mA:=  

UCEQ UCC ICQ RC⋅− explicit ALL, 20 V⋅ 1.861 mA⋅ 4.7 kΩ⋅⋅−→ 11.25V=:=  

UB UBE 

UB 0.7V:=  

UC UCE 

UC 11.25V:=  

UE 0:=  

UBC UB UC− explicit ALL, 0.7 V⋅ 11.25 V⋅−→ 10.55− V=:=  


